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Define the terms with example : - [05]
(1) Union and intersection of two sets (2) Square matrix (3) Unit matrix (4) Null Set

State “De’Morgan laws and verify it for U = {1, 2, 3, 4, 5 86 7, 8, 9, 10} [05]
A={1,2,5,8 8}, B=2, 4,6, 10}.

4 -1

2 5 2 5 : [08].

fA={-1 3| B=|3 -1|and C=|-1 —s5 then find

2 0

5 2 3 -2

(1) A+B (2) A+B+C (3) 3A-4B+2C

OR

IfA={1,234),B={24,68andC= {3, 4, 5, 6} then verify that . [05]
(1) AUBIC) = (AUB) N (AUC)
(2) AN (BUC) = (ANB) U (AN C)

If_ A.;_mf [13 ;J and__B 2= E ::' thgn'che_ck_ _ 102}

(1) (AR =ATHBT (2) (AB) = BTAT

State and prove De'Morgan laws by di_agram. o s

.Ev‘éluate:‘ | L S PR .. i05]
{1) 10Cs X 5Cs |
(2) 7P3 X 5Py

Find n if (0]

2nPs = 14. P4 e | :

How mény.:diff.ere.ht. humb.e.rs of six digits can be for.me.d. using the digits [05]

_Findnif -
-~ iCs 2Cs = 11:8 ‘

2,1, 4,5, 7, 82 How many of them will be divisible by 5. _

OR
[08)

A Committee- of six is to be formed from 8 boys and 3 girls, in how many ways this {05]
can be done so that the committee contains at least 3 boys, :
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Evaluate : e LTy - _ © {05) _

(1) 1Cs
(2) 4C1 P2
@ 5Cz X sP2 EET _
Write the rules of differentiation. “~~ - [05]
Find dy/dx if_ | [05]
. (1) y= x4 % ex )
_ 3%
2) y=or
logx
' . . 5 . - [08]
The demand function of a commadity is P =50 ——2~x , determine demand and price
for maximum revenue,
OR
Find dy/dx for
05
1) y=4x3+4e"+10gx+l+7“ 109}
X
2x+3 : : _ {05]
2) y= .
Jx+1
Find the maximum and minimum values of the function. B : [05] -

y=x>=3x" -9x+5

A machine is purchases for Rs. 2 00 000 the expected life of which is 12 years. [05]
When a new machine will have to be purchased it would cost double the price from
previous. In order to purchase a new machine what amount should be invested on

31 December every year for 12 years at 15% rate of mterest’?

What is an aggregate amount for Rs. 4, 000 at 12% rate of compound |nterest for 3 [05] _
years if the interest is compounded (1) Annually (2) Semi Annually. ' '

The population of a city at preset is 76162 which was 65673 before 5 years. Find out [05]
the rate of growth of population.

OR

Bhautik chemicals fixes a target of producing 50,000 tonnes at the end of 7 years, If {05}
the production grows ata rate of 5% per annum. Fmd the present day producnon of

* - the company.

Define the terms with appropriate formuia for : Sinking Fund, Simple interest, [05]
Compound interest, Annuity.

Rutu has obtained a loan to start unit. This loan is to be repaid in 10 installments of [05]
Rs. 1,75,000 each at the end of every year. If the rate of compound interest is 12%,

find out the amount of the loan.
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